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GROUP MEMBER ROLES

The cards offer a second feature: the reverse side of each
card indicates the role the student holding the card is to
perform in the group. After the students are presented
with the task for that day’s lesson, each member of the
group takes on the designated role. These roles are as
follows:

« Discussion Director

* Resource Manager

» Recorder

» Team Captain
Teachers can easily identify the roles that students are
expected to perform, since students place their cards on

their desks with the side indicating the role facing up.
The roles are explained as follows:

If you are the Discussion Director, your jobisto ...

» Make sure that everyone has read the problem and
understands what the question is asking. You can
ask, “What do we know?” “What do we want to find
out?” and “Can we make a prediction?”

« Invite everyone in the group to participate. You can

use statements such as, “What is your idea?” and
“What are you thinking?”
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If you are the Resource Manager, your job is to ...

 Ask the teacher a question if all of the members of
the team have the same question.

 Get any supplies needed by the group.
« Keep track of time.

The Resource Manager’s role goes beyond taking care of
the supplies. The Resource Manager is the only member
of the group who may ask the teacher a question. Before
asking a question, every member of the group must have
the same question, and the teacher can then direct the
answer to the whole group. This helps the members of
the group become more interdependent, since group
members can answer many of their questions themselves
rather than relying on the teacher.

If you are the Recorder, your jobis to ...

e Keep track of the thinking of the group. Be
ready to answer how the group approached the
problem. What strategy did the group use to solve
the problem?

 Record the work of the group. Be organized and clear.

» Ask,“Is there anything else we need to include?”
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These practices focus on the specific actions taken by
students who are mathematically proficient.

The eight mathematical practices are:

< 1. Make sense of problems and persevere in
solving them.
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Reason abstractly and quantitatively.
Construct viable arguments and critique the
reasoning of others.

.

Model with mathematics.

Use appropriate tools strategically.

o v A

Attend to precision.
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Look for and make use of structure.
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8. Look for and express regularity in repeated reasoning.
(Common Core State Standards for Mathematics, 2010, pp. 6-8)
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The authors of the Common Core carefully chose to begin
the mathematical practices with problem solving. “Prob-
lem solving is not only a goal of learning mathematics
but also a major means of doing so” (NCTM, 2000, p. 52).
Students who are engaged in solving meaningful tasks
are in the process of building their understanding. They
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are making connections, constructing arguments, ana-
&5 lyzing approaches, looking for patterns, and reflecting on
their thinking. These students are learning mathematics,
and they have opportunities to exhibit the eight math-

ematical practices.
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The Collaborative Cards provide students with opportu-
nities to develop proficiency in the eight mathematical
practices. Students solve problems, discuss strategies,
and reason mathematically (Mathematical Practices
1-3). They work with patterns and apply them in various
contexts (Mathematical Practices 7-8). They determine
whether to calculate problems mentally or use paper
and pencil (Mathematical Practice 5). By attending to the
use of appropriate vocabulary and the accuracy of their
responses, they are attending to precision (Mathematical
Practice 6). They use equations to model problem situa-
tions (Mathematical Practice 4).

The Collaborative Cards provide teachers with insights
into what individual students truly understand. As they
apply their knowledge in new contexts, students use
what they know. As one fifth-grade teacher in Grafton,
Massachusetts stated, ‘I gained insights into my students’
misconceptions. These cards are an easy way to learn
about students’ strengths”
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Here are four cards from the Grade 3 deck that all have =~ work with area and perimeter by drawing on an intui-
the same answer, 15. tive understanding of the meaning of multiplication and
division. In Grade 4, students extend their understand-
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ing of perimeter and area to work with the appropriate
formulas and to represent data on a line plot.
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How many more apples were picked in February than in March? Marcella began reading her story at 7:33. She stopped reading at 7:40 >
when her younger brother came to say good night. Marcella then read

With your team, discuss why the key on the graph is important. from 7:43 to 7:51. How many minutes did Marcella read that night? are pro\rided on pages 21-23 Of this g uide.
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dards within the Measurement and Data domain, as

Brian lets his rabbits roam freely on his lawn. ‘How many square units is the total area of this shape? ‘0‘
i lawn measures 3 yards by 5 yards.

e G L presented in the Common Core State Standards on pages 5%
With your team, explain why this problem refers to *square yards . 0.’
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In this set of four cards, students interpret a graph, work

with elapsed time, and focus on area. On two cards in 3, students focus on the attributes of two-dimensional
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this set, students are also asked to answer specific ques-
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As in other domains, the Measurement and Data cards
offer opportunities both to review previous expectations
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Juan has S bags of apples. He knows he has 30 ap

Peter is organizing his toy car collect]
He has 42 cars, and he is placing them in 7 ro
How many apples are in each bag’
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Harriet purchased 3 boxes of cand] A classroom has 6 rows of chairs, with 5 chair:
Harriet's mother also purchased 3 boxes ¢
Each box contains 5 candy bars.

How many candy bars do they have altog

How many chairs are in the classroo
Explai

ANSWER
7

number by 8, | ge

—
QRKHKK
LK

How many groups of 4 do you need to m; What is this number?

Discuss with partners how the number line helped
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Marion solves the problem in the order given. Georg

Margo wants to arrange the chairs in the cafeteria
She has 56 chairs. How many chairs will be i

Guess my nu
My number is less

If | count by t:
my number is the t

‘What is Thomasina’s number?

Peter says the answer is 3. Sara thinks the answer is 6.
Which answer is correct?

Be ready to explain your thinking to your group.

Pedro has 300 baseball cards. He wants to sort his cards into piles. Each
‘What answer do they get? pile should have 10 cards.

n to your partners why George wanted to How many piles will Pedro have?

Sheldon has 700 baseball cards. He wants to put them in bags. Each bag
should have 100 cards.

How many bags will Sheldon need?

OO e oo et atotetote et tete
QRRIIRIRAKKK
QRN

QRIS

boges QIR
SRS

% JRRHNRRANRK
00262622 %% %!

o¥%
X

HRHIHKKIXD

o,

QRRRRRRRRLKS

SHRIIIKIKIKAIAK

XK
13002 %

%S
9500es
R

b0
0020000026 %6%6%6%0 %6 %6 %6 %% ¥4 20 %!

3
&
poe e resetetetede

o,



2RI R R RIS

QR0 O0RIIRRIIRIILRIIIRRS
QRIS QXK SRRRIIXRI QRRRHRRARKS QRRRRIREKEIKIRRIIKS

902622 % % %% 0. 0.0, K %28 28080808 555555558888 82505050505 5555 55525 2555555550 5. 5 8 XK X X X X X X K K K 2 2 8 8 2828000000 0 8 8 8 8 8 8 8 8 8 8 258 28080808 2855555558885 28 28 28 25 28 5 5 5 255 50552

9026262000940 0, 0, 0.0.0.0.0.0.0.0.9:9:%% 2000008882528 2825250555255 25 5552555555558 5. 5 8 2 XK X X X X X K K K 2K 2 8 8 8282808000000 0 0 28 8 28 8 8 8 8 8 88 250580808 2850555555088 525 25 25 25 25 K K K K 5 5 552

19026262 % %40 %00, K X KK 5050808555555 %% $.0.0.0.0.0.0.0.0.0.0.0.0.9.9.90.9.9.9.9.9.9.0.9.9.0.9.0.0.0.000 190 %0%6 %% %% %% 9.0, 0.0, 9000902020902 %0%6 %% % %% 1000006207620 %6%6 % %6262 2696962 %%

QR R R R IR RN

‘%%%%‘0‘000000000""'...QQQQQQQQQQQQQQQQQQQQQQQQ..”’000000000000000""0000“‘00000‘000000000""'..'QQQQQQQQQQQQQQQQQQOQQQQQO.”’000000000000”&”
R XX
0%

0.9
ﬂ?

XXX

3RS

R
R

X
Doges

ALGEBRAIC THINKING GROUPINGS

RRIKIIKEL
5
LK%
X
&S
oS seseses

o
!

00:
K XKL
2%
olotoe!
B
QLK

":’0000
XS
3

K

%
2K

PARAGA QA Gk Gk

2
2
3RS

0020000

| | have four groups of 6 coins. |

%
b
S

N Lo So Lo Do Ko o A KKK
o ‘l(z;) + ‘l(; 4 2&%3?
RHRARS CEEEE
IS 8roup ANSWER
KKK of 4 coins.
9090026540, %
%065 % %%
CRRRRRRL
CRRRKR
KRR RRIRRY
CASS55558 %6%6% %%
090%% %% 94%%%%
C55050505088 190260 %%
096%6%0% %% 90 %0%%%
SR SRR
:0:0:0:0:0:0: ‘What is the solution? How many x's are there? How many coins do the girls have altog How many stars are there? :0:0:0:0:0
0:0:0:0:0:0:0 (Hint: You do not have to count each ¢ 0:0:0:0:0:
RRHRRHNK Discuss with your group an easy way to solve Is there an easier way than counting all t Find the total number of stars without counting all of them. RN
R Explain to your group what strategy yo Discuss with your group. KK
19096 % % %% 1962 % %%
902096 % %% 1%6%% %%
5202096 % %% %% %% %
R RHKRRXY CRXRKS
6%6%6%0% %% %% %% %%
90%0%6% %% %% % %%
:%6%6%% %% 196 % % %%
9090%0% %% % 196 % % %%
:%696%6%%% 020 % %%
00 0090% % %% %0 %% %%
:%6%6%6%%% o206 %%%
900000 % %% %0 %%%
:%6%6%% %% %0 %% %%
90909600 %% %6 %%%%
SRXRAKS 2K
R0RRAKS R
%0%%% 0% %6%%%
900000 % %0 %% 00%9%4%%
196%%%%% 00%9%4%%
0%6%6%%% 06%%4%%%
96%%%%% = 006269 %%
RRKKK = QRIRKK
0%6%6%%% 0% % %%
90%0% %6942 % g 06092
RRIKRKKK . & Th dedeedele
0%0%0% %% % — — - your answer. en %6%%
90%0% %% % ¥ = %6%%
SRR S e = B —
QKRR | 9 x 10. Now subtra
IHRRRRRS |
0000 %% 6% % s
KRXXXRK L1 second answer fro|
SR first 9
SURRRRRRS rst answer]
19096 %0%9%%,
CRARKKAKKL %%
09096 %6%9%%,
CRARKKAEKL R
09096%6%9%% X2
CRARKKAEKL Q
30K &L
::::::::::::: ‘What is the value for “?” that makes this state Today we are going on a class trip to the Pythage Find the answer to Frangois’ challen| ‘What number goes in the box to make the statement true? ::
126%6%6% %%} We have 63 students, and we have rented 2R
0%6%6%%%% K2
90269 % %% % 2
RRHRHNRS AT by
RAERRRS How many students will be in each v, K
e
XK RX K QR
QRRRRRXY QR
900694 %%% o
QRRRXRXY %
%% % %% 2
%022 % %% %
%622 % %% %
9000020 % % %
%% % %% %
19006 % %% %
19096 % %% 9
19006 %% % 9
1 90%6% %% 9
%0962 % %% O
RS e o Lo 2 P P B 1 &
(XK 3, d K2
x
“:Q: WRAARARDTNR Tom, what's 8 x 72 :.

%

WA AATRR
Uy
WA
WRAAANAAR
i8R g+ g g gug+d

R

I don’t know, but 8 6 X 7 + 2 x 7 = ?
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Ms. Fleur is planting roses and sunflowers in| Kathy wants to find the total number of stars, but Find the answer. Did you get the same answer usi; Find the value of “?"

The space she has for roses measures 6 yards wide| count each one. She thinks counting is too n

The space she has for sunflowers measures 2 yards Be ready to explain your thinking to you: With your group, write another problem that has the same answer.
long. How many total square yards does she have Help Kathy find the number of stars without cous
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Marie wants to put ribbon on the dresses she has There are 4 rows of apple trees in the ox Trey says to his friend, “Here is a mental mat
She has 32 inches of ribbon. Each dress needs 4 i If there are 32 trees altogether, how many trees mu Do it as quickly as you can.”
How many dresses will she be able to decorate]

Jennifer has 320 jellybeans.
She is placing them in bags for her friends.
If she wants each bag to hold 40 jellybeans,
Find the answer and be ready to explain yo how many bags will she need?
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How many jellybeans are there altoget] How many dots are there altogethe: How many pencils will you have if you double Find the value.
Write a number sentence to show your & Write a number sentence to show your &
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Discuss with your group why each of you has th Discuss with your group why each of you has the same answer.
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Find the product. What is the nearest ten to t} On the fourth jump, what number will the arrow ‘What is this value? Find the value. O:Q:Q
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0. 0.0
Your group has the same answer. This number line shows a multiplicatio With your group, find a quick way to do this i K
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Find the product.
‘Which of your team members has the easiest pr¢

Explain your thinking.
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Henry's mother went to the bank and asked to take
account. The bank gave her 26 ten-dollar bills and
How much money did Henry’s mother take fron

| can find 35 take away 19 i
I know 35 - 20 is 15. No
to put back the extra that |

‘What is Juanita's answer?
Explain to your group how Juanita got the

Find the product.
‘Which of your team members has the easiest pr¢
Explain your thinking.
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1 hundred + 16 tens +

Can you think of a different way to write thi

Peter thinks, ‘I can subtract 19 from
It's easy when I use a number line” What answer
(Be ready to share his strategy with yous

Find the product.
‘Which of your team members has the easiest pr¢
Explain your thinking.
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My mother had 176 bite-size candies.
My Dad gave her 89 more candies.
How many does she have now?

Forrest thinks, "I can subtract 19 from 35.
It's easy when I use a number line" What answer does Forrest get?
(Be ready to share his strategy with your team.)

Find the product.
‘Which of your team members has the easiest problem to solve?
Explain your thinking.
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4 hundreds + 5 tens +

‘What do you need to add to this number to This number has three digits. The ones (units) digif Chris knows that he can use a number line to add numbers together.
the hundreds digit. The tens digit is 4 more than the Chris begins at 456.
Desean has 740 cards altogether. The hundreds digit is 2. What is this nu How much does he add on this number line to make 740?
How many cards represent National Leagu

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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ANSWER
1/4

What is this value written as a fractil

ANSWER
/5

There are 5 marbles in the bag.
Susie reached in and took one marble fron
What fraction represents the amount Susie took

ANSWER
1/3

‘What unit fraction is represented by the shad
Your team has an equivalent fracti
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FRACTIONS GROUPINGS

What fraction represents the shaded circle
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What size is each unit on this number

(Give your answer as a fraction.)

Sharon has three kittens. Two are black and ¢
‘What fraction of the kittens is whits
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What fraction should go in the box
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‘What part of the circle is not shaded?

(Give your answer as a fraction.)
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‘What part of this rectangle is shade:

(Give your answer as a fraction.)

What fraction should go in the box

What fraction represents the shaded circle in the set?

‘What part of the rectangle is shaded?

(Give your answer as a fraction.)
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‘What is this value written as a fracti How much of the rectangle is shade, My brother shared his pizza with ‘What fraction should go in this box?
The pizza was cut into 6 slices, and he ga
(Give your answer as a fraction.) How much of the pizza did my brother gi
(Give your answer as a unit fractior
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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How much of this rectangle would we ‘What fraction should be placed in the ‘What is this value written as a fracti Solve this equation.
if we combined 3 units the size of 1/4

RK,
QIRARRKKKL
o

R
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‘What fraction goes in this box? How many whole pies are there? ‘What fractions go in the boxes? Are these fraction:
How can we write this as a fractio: How do you know?

Mom has two candy bars. She says that I can have them both!
How can we write this as a fraction?
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Your partners have the values in these
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These number lines show us that 1/3 is the Answer Henry's question. ‘What fractional part of these cups are lying o Robert counted 3 units the size of 1/9 on this number line.
(Finish the sentence.) What is his new value?
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KRR Key: Unit = 5 students

| | |

Harriet woke up at 7:30 Am. She dressed and had |
This took her 35 minutes. She needs to be at the bu
How many minutes does she have to get to the

Alijah has three jobs to do in one hou!
He wants to spend the same amount of time or
How many minutes will Alijah have to complete

Marsha placed a rock in a large bucket of :
How many liters did the water rise
when she placed her rock in the bucke

How many students prefer cats?
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Key: X = 3 students
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Some students measured the length of their poir Mary has 36 inches of string. Francine is designing a rug for her dollh¢
They recorded their results in a line pl She wants to make 4 equal pieces with this How many square units will her rug cov

How many students have fingers that measured How many inches long will each piece of str:
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Val started to read her book at 7:20. She stopped reading at 7:29.
How many minutes did Val read?
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¢ Katie is correct.

@ >

A: He added all of the sides.
B: He added 3 to 6 and then doubled that amount.
C: He multiplied the length of the two given sides.

A: Place more square units on the rectangle. A: Bglasses

B: Remove some square units.

Ins 5 4 rectangle, the area is 20 square units
and the perimeter s
In 24 = 4 square, the ares and perimeter are the same.

: Ina 3% 3 square, the arez and perimeter are the same.

ANSWER

2 liters 2 liters C

B: 12 glasses
C: 24 glasses
D: 16 glosses

[a}

C: Adjust the overlapping square units to fit in the rectangle.
D: Peter did not make a mistake.

9

D: He guessed the area was less than 20,

| | |

Peter placed square units in this rectangle to mea; Caleb said the area of this rectangle is 18 s Katie thought that a rectangle could not have an are:
His friend told him he made a mistak( How did he find the area? with the same number of units. Which answel

‘What could Peter do to fix his mistake

(Your partners have the same letter answer as

XX XXX,

Kingsley bought 6 liters of lemonade for her party.
If each liter fills 4 glasses, how many glasses of lemonade
will Kingsley have for her party?
(Your partners have the same letter answer as you do.)

(Your partners have the same letter answer as

(Your partners have the same letter answer as

the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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A: 10 grams
B: 1gram

C: 20 grams
D: 15 grams

A 2x6+2%6
B: 3x6+3x6
C:4x2+4x4
D:3x6+1x6

2K
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AKX
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A: 10 feet by 2 feet
B: 6 feet by 6 feet
C: 7feet by S feet
D: 8 feet by 4 feet

1

Arnie says he can find the area of this shape by tk
2 rectangles. How did Arnie find the ar¢

(Your partners have the same letter answer as

:9000000.0.0,0,0. %,

1

How much do you think this paper clip weighs? Selecl

(Your partners have the same letter answer as

Alex said, T can think about this rectangle in sn.
That will help me find the area” How did Alex not

(Your partners have the same letter answer a

Jayla is building a fence around the yard for her puppy.
She has 24 feet of fencing. Which size yard
will give her puppy the biggest area to play in?
(Your partners have the same letter answer as you do.)
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15
=5apples
CRARARKL U i

R 1

How many more apples were picked in February t

‘With your team, discuss why the key on the graph

|

Marcella began reading her story at 7:33. She stoppec
when her younger brother came to say good night. M
from 7:43 to 7:51. How many minutes did Marcella r.

Brian lets his rabbits roam freely on his 1

The lawn measures 3 yards by 5 yards

How many square yards of lawn do the rabbits
‘With your team, explain why this problem refers to

How many square units is the total area of this shape?

7in.

ANSWER
5

Key: X = 1 book

Find the width of this rectangle.

Be ready to explain to your team how you founc

|

Jeremy piled up some of the books shown in this g:
all the books that were ¥4 inch thick, 1 inch thick, an
How tall was Jeremy’s stack of books?:

Jill drew a rectangle. It has an area of 20 squa
One side is 4 inches long. What is the length of th:

Be ready to share your thinking with your

Pedro made a rectangle. It has a perimeter of 12 inches.
If Pedro’s rectangle has a width of 1 inch, what is its length?

Be ready to share your thinking with your team.
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MEASUREMENT AND DATA GROUPINGS
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4 in.

—=—————— [
9:00 1 ANSWER
20 ft 72

1 1 |
Two rectangles were pushed together to make a la1 Maria wants to place a border around her flow: On Saturday, Caleb left his house at 9:10 and went| A rectangle has side lengths of 2 and 36. Harry wanted to find its area.
How many square inches is the area of the new How many feet will the length of her borde He left the library at 9:45 and went to get ice cream Multiplying 2 by 36 was hard for him. He decided to use 4 by 18
Share with your team how you found the Caleb walked home, which took him 22 minutes. W instead. What is the area of this rectangle?
number of minutes that Caleb was away from t
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Key: X = 2 pipe cleaners

1 | |

The perimeter of this square is 40 inch: Rose put a rock in the beaker. How many milliliters di Peter’s group measured the lengths of pipe ¢ Renee wanted to take $109 from her bank account.
How many inches is the length of a sid How many pipe cleaners measured 3% o The bank did not have any $100 bills.
(Why is the key important when working with The bank gave Renee some $10 bills and nine $1 dollar bills instead.
Discuss with your team.) How many $10 bills did the bank give to Renee?
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Key: ¥ =1 plent

| | |

Destiny wants to put ribbon around her holic The third-graders planted lima beans in scier Sarah is confused. The two rectangles look d Malik says you can count the number of square units
She has 60 inches of ribbon. Each gift uses 5 inch The graph shows how many inches the planf but their area is the same. How many square units is| in the rectangle to find the area. What is the area in square units?
How many gifts can she put ribbon on How many plants grew 11 or more inch (Why do these two rectangles have the sami (Is there another way to find the area of this rectangle?
Explain to your team.) Discuss with your team.)
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the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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This rectangle equals one whole. How much of the reg The large rectangle equals one whole|
How much of the large rectangle is shad

The number line is divided into two equal se}
What value goes in the box?

This parallelogram equals one whole. How much of it is shaded?

(Give your answer as a fraction.) (Give your answer as a fraction.)

(Give your answer as a fraction.) (Give your answer as a fraction.)

ANSWER

O
CRRXRX

The large rectangle equals one whole] The large triangle equals one whole.| Dennis drew a number line to show how much of the
How much of it is shaded? The smaller triangles inside it are equal i What fraction goes in the box?

How much of the whole is one of the small t
(Give your answer as a fraction.)

‘What part of the circle is shaded?

(Give your answer as a fraction.)

(Give your answer as a fraction.)
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Penelope says that none of these shapes is a qu: Pierre looked at this shape and said, “The shaded pa Connie drew this figure. She says it's a quadrilateral. Do you agree?
Do you agree? Do you agree?

Darrell thinks that all of these shapes are quadrilatera

(If you agree, the answer is “yes! If you disagree, the| (If you agree, the answer is “yes” If you disagree, the answer is “no!’)

(If you agree, the answer is “yes. If you disagree, the (If you agree, the answer is “yes” If you disagree, the|
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:0.0.0.0.0.0 Henry says that both of these pictures show ¥3. D Maleika drew this shape. Gracie says that these two pictures show the sa Malik said, T see that four one-fourths make one whole Do you agree? KA
$RRHRRN She said, “This shape is not a rectangle or a square’| Do you agree? X%
:0:0:0:0:0:0 (If you agree, the answer is “yes” If you disagree, the| (If you agree, the answer is “yes! If you disagree, the answer is “no!’) 0:0:
0:0:0:0:0:0: (If you agree, the answer is “yes! If you disagree, the (If you agree, the answer is “yes” If you disagree, the| :0:0
e R
0202006 % %% 0%
196%6%6%% %) 0‘0
0'0.0.0.0.0‘ XK
0 90%6%6%%% X2
90225 2
KRR
00 %%
00 %6%%
e
R

K
K
K

&
%!
3R
30K
&

o
%
RRRR

0220228

As Ares of rectangle 3 = Ares of rectangle 1
B: Ares of rectangle 4 > Area of rectangle 2
C: Ares of rectangle 1< Area of rectangle 4 A

D: Not enough information to tell oY%
SRR

A: 25 units
B: 20 units
C: 15 units
D: 24 units

This square is divided into equal-sized | All of these shapes are quadrilateral: These two rectangles are the same size. Each rectangd Which figure is not a quadrilateral?
How many square units is its area? One of these shapes is not a rhombus, rectangle into two equal-sized pieces. Select the true st;

‘Which shape is it?
(Your partners have the same letter answer a: (Your partners have the same letter answer ag

(Your partners have the same letter answer as you do.)
(Your partners have the same letter answer a:

A Square A: 8 square units
B: Circle B: 24 squere units
C: Rhombus C: 16 square units

D: Rectangle D: 28 square units

What is the area of this rectangle?

Which figure is a quadrilateral? Which shape has four equal parts? Which shape does not have at least two equg

(Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

(Your partners have the same letter answer a: (Your partners have the same letter answer ag

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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ANSWER
12

Andrew wants to find the area of this rectangle.
He thinks the best way is to count the unit squares inside it.
‘What answer does he get?
(Would he get the same answer if he multiplied the side lengths?)

Jo wants to find the area of this rectang

She thinks the best way is to multiply the sidd
‘What answer does she get?

(Would she get the same answer if she counted the,

These two rectangles are divided into equal-sized
‘What is the total area of the two shapes in squ|

The area of this figure is 9 square inch
How many square inches is its perimetg

ANSWER A: Both are quadrilaterals. A: The big figure s 2 quadrilatersl.

B: Both have opposite sides that are parellel. B: The big figure s 2 trapezoid.
C C: Both are open figures. C: The big figure s 2 rectangle.
D: Both have opposite sides that are the same length D: Each triangle is one-third the size of the big figure.

O
CRRXRX

Select the statement that is not true about squares 4 Each of these shapes is divided into equal-siz] The triangles inside the figure are equal in size.
Which shape has one-half shaded? ‘Which statement is not true?

Rafe measured a rectangle. What is the width of t]

(Your partners have the same letter answer a: (Your partners have the same letter answer ag

(Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

ANSWER
20

—
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How many square units are contained in this How many centimeters is the perimeter of this The area of each small triangle is 5 square} What is the perimeter of this shape?
What is the area of the square in square
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GRADE 3
TEACHER GUIDE

Practice and reinforce the content from the Common Core
State Standards with these innovative activity cards.

Created using the five domains from the Common Core State Standards, these cards
actively engage students in problem solving and promote mathematical discussion.
Students solve the question on their individual card and then look for others who have
the same solution. The four students holding cards with the same answer form a
group; the back of their cards show the role that each student will play as the group
works on the next task. Based on the most recent research about the effectiveness of
collaborative learning, and in accordance with the Common Core Mathematical
Practices, these card sets can be used repeatedly to group students for an upcoming
unit or problem-solving lesson. Cards can also be used for small-group instruction or
as an independent activity. Each grade-level set includes 36 durable, two-color cards
per domain for a total of 180 cards. Teacher Guide includes suggestions for classroom
use, answers, and access to website with additional tasks and resources.




